TMeEE

AEZHIRFKFEX
LR AMISEETREXS

L]

(&%)

RILEBE
AR AR R KFERAR

‘ ' b B A TR R
3 BB

Ll
m|u|1



(NERE)

TSIV R s et S B P S S N ER E
& 2,530,000 Hu
4, i e B B & B (M) B i ]
EREP LT o 1.o| = 899,000 |
E4 e =4 1.0] = 989,000 9
T B SR B 1.o| = 283,000 3
LS T ¢ 1.0] = 135,000 4
&t 1.o| = 2,306,000
ok 9) 1.o| = 2,300,000
THEBIAE Y4 %8 10| % 230,000
=) =t .ol = 2,530,000

WAL R RRT A R KR SR P




(I H)

15 BaE [EREE N A= ¢ HEI
4 899,000
& BB b m & |wom|w o@m | & o |[PEEEES W om
BAE | HAmER
Br Bl ¥ B | (O 21.9] A 38,400 840,960
Iad Hefifi (C) L5 A 38,400 57,600 SIEIX 05N
= Lo| 898 560
s D Lol = 899,000

HE B BRI RS 0 R 3 KR 2T




(A EDH)

% 2 B GEEE i oR B B fE sE
4 989,000
B 5
& B o D n omlw | wmom | & om ) |PEEEES W@
B | HHER
2 Lo| st 988,900
g:s) Lol = 989,000

AL R R i 0 R KR T




(I H)

%3 B BmE o Bk & R & HE I ==
4 283,000

B 5

& B o D n omlw | wmom | & om ) |PEEEES W@
B | HHER

HeAfre g 15.0] % 1,888,000 283,200 (EHE I 1 SRR 2) X 015

. Lo| s 983,200

QD) Lol = 283,000

HE B BRI RS 0 R 3 KR 24T



(A EDH)

o4 RS B Bl R & B o =
4 135,000
& BB b m & lwom| o wom | & om g |PEBEES W om

WIME | HilE

SERIR A AR Lof ¢ 26,363 26,363 29,000(9/1.10
"JEZLY) 3 O H \
;;?ﬂﬁ@%@% 1.0 = 109,090 109,090 120,000 /1.10
2} Lol K 135,453
R 0] = 135,000

HE B BRI RS 0 R 3 KR 2T




